
ECE 109 Quiz Review #2

⑪LoesP(AIB) = PCAIBC) imply AiB independent
?

If so , prove it. If not, find a counter example.

E Yes .

PG: P(A) = PLAIB) P(B) + PLAIBY) PLBY

= PlAIB) P(B) + PLAIB) PCBY)

2 PLAIB) [P(B) +PCB4]

- PLAIB)

T



⑫ Suppose we roll 2 dice ,
and the sum is at least 6.

What is the probability none of the die's rolled a 1 ?

A ! Use Bayes
-

Let A : 5 sum2, 63

B = 5 no 4's]

P(BIA)=BPB
P(B) = (5)2
P(A) = 1 - P(A)

Sums : 10 possible)
=

1 &
= 1 - 3/18

=13/18 a
4 1/ 3x1 , o 2+2

P(AIB) = 1 - P(AYB) Sky, 25 3 , 3:2

-1 - 5
= 22/25

So P(BI):
=⑬



⑬ Suppose we flipped 5 coins ,
and 3 of them

turned out to be heads. What is the probability
that the first flip was a head?

Let A = Sfirst flip heads

B2 53 headst

P(AIB) : PA
PIBIA) -> 2 heads in 4 remain flips

= St

=
318 s

P(is):
= 5/6

So PLAIB)=)
16

#



⑭ Suppose S = IN
,
and we assciate each neN

with probability 2-4
. Let Ede the event that

the outcome is larger than 2 .
Which of these

is independent of E?

a) The event thatn is less thant.
X

-
b) The

event that n is even

~
c) The event that i is odd.

E a) Denote this event as A PIE)=+- - .

P(A) = E+q ++ = 718 = 4
PLEA = %8

P(A)PLE) = Eo #X

b) Devote this event as B.

P(B): + + +--

-in
= 1.43
= "3

P(EB) = P(B) - E
= 1/12

PLEPIB) : GB = 12 =PLEBV

c) Denote this event as C.

P(6 = 1- P(B) = 2/3

P(EC) = P(C)-12 = Y6

91E34(1 : % . 5 = 5 = PLEDV


